Linear Equations
1. For what value of K will the following pairs of linear equations have no solutions? 2x+3y=9, 60+(K-2)y = (3K-2)
2. The difference between two numbers is 5 and the difference between their squares is 65. Find the numbers?

3. A man has some heads and cows. If the number of heads be 48 and number of feats be 140.  how many cows are there.
4. Find k for which the system x+2y=3 and 5x + ky +7=0 is inconsistent.

5. The area of the triangle formed by the lines x= 3, y=4 and x=y 
(a) ½ unit2 
(b) 1 u2 
(c) 2u2

(d) None
6. If the system of equations 2x+3y=7 and (a+b)x + (2a-b)y=21 has infinitely many solutions then 
(a)  a=1,b=5 
(b)  a5, b=1 
(c) a=-1, b=5 
(d) a=5, b = -1 
7. The sum of the digits of a two-digit number is 9. If 27 is added to it, the digit of the number gets reversed. The number is 
(a) 25 

(b)72

(c) 63 

(d) 36

8. The area of the triangle formed by the lines 2x+3y=12, x-y-1=0 and x=0 is 
(a) 7u2 

(b)7.5u2 
(c) 6.5u2 
(d) 6u2.
9. If 2x- 3y=7 and (a+b)x - (a+b-3) y = 4a+b represent coincident lines, then a and b satisfy the equation 
(a) a+5b=0 
(b) 5a+b=0 
(c) c-5b=0 
(d) 5a-b = 0 
10. Half the perimeter of a garden, whose length is 4 more than its width, is 36m. Find the dimensions of the garden

